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Exercise

1. Which of the following statement is not

correct regarding botanical garden-

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vj4iChNJqoxv


A. Here plants are conserved I natural

evironment

B. Endagered plant species is conserved by

germplasm storage and conservation

C. Only Indigenous plants are conserved

D. Extinctionable plant species are

conserved through tissue culture

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_vj4iChNJqoxv
https://dl.doubtnut.com/l/_9XVxA517xdhY


2. Decide which of the following statement

regarding in-situ conservation is not correct?

A. Stop poaching by law

B. Preservation at own habitat

C. Storing sperm, ovum or zygote through

cryopreservation

D. Prohibition of cultivation and grazing

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_9XVxA517xdhY


3. ACTH is secreted from-

Watch Video Solution

4. Distance between two stands of a DNA

is_______.

Watch Video Solution

5. In heterozygous organism ______ character is

suppressed.

https://dl.doubtnut.com/l/_SpjaP4hZxgE8
https://dl.doubtnut.com/l/_Bxyv92HXdXDX
https://dl.doubtnut.com/l/_xKoJhtW3MwvS


Watch Video Solution

6. According to Darwinism ____ Which is helpful

for struggle for life is survival of the fittest.

Watch Video Solution

7. A green house gas produce from

airconditionar is_______.

Watch Video Solution

https://dl.doubtnut.com/l/_xKoJhtW3MwvS
https://dl.doubtnut.com/l/_FB3vvtFmx4a5
https://dl.doubtnut.com/l/_LU5UQOZOmLzn
https://dl.doubtnut.com/l/_rcsxQWa6C392


8. ____ is related with algal bloom.

Watch Video Solution

9. Cerebrum is called the thermostat of body.

Watch Video Solution

10. Chromosomes move to the pole of spindle

fibre in metaphase.

Watch Video Solution

https://dl.doubtnut.com/l/_rcsxQWa6C392
https://dl.doubtnut.com/l/_CQYGUsJT3ph2
https://dl.doubtnut.com/l/_05ZTzpEc1d64


11. In case of thalassemia deformation of

bones takes place.

Watch Video Solution

12. Mutation is the main source of evolution.

Watch Video Solution

https://dl.doubtnut.com/l/_05ZTzpEc1d64
https://dl.doubtnut.com/l/_sng3AuJGTYyy
https://dl.doubtnut.com/l/_P4HLwmtTJ42x


13. True or False: Orang-outang is an

endangered species in eastern-himalayan hot-

spot.

Watch Video Solution

14. Choose the odd one and write it: Diabetes

incipidus, Dwarfism, Thalassemia, Diabetes

melitus.

Watch Video Solution

https://dl.doubtnut.com/l/_4Qg75n4MUF5A
https://dl.doubtnut.com/l/_q9DpR0hhTRit
https://dl.doubtnut.com/l/_QpZ3BHkRlHeR


15. What is the relation between stimulus and

tactic movement.

Watch Video Solution

16. Given below a pair of related terms. Write

suitable word in the gap of second pair,

folloiwng the relationship in the first pair. 

Adenin: Purine:: _____: Pyrimidine.,

Watch Video Solution

https://dl.doubtnut.com/l/_QpZ3BHkRlHeR
https://dl.doubtnut.com/l/_ZqBksarl6J2M
https://dl.doubtnut.com/l/_jAbK2pRDITYC


17. Give example of the different types of a

same gene.

Watch Video Solution

18. Give example of a mutation of human

population.

Watch Video Solution

19. What is the index of the gradual increase in

the complexity of the heart structure of

https://dl.doubtnut.com/l/_jAbK2pRDITYC
https://dl.doubtnut.com/l/_yKt3YPoMGTBR
https://dl.doubtnut.com/l/_A1yBeITFsYxM


vertebrates?

Watch Video Solution

20. Among the following four terms three

include the other one. Find out the terms and

write it. FPC,EDC,JFM, VFG.

Watch Video Solution

21. Name a medium of in-situ conservation

process other than national forest and

https://dl.doubtnut.com/l/_A1yBeITFsYxM
https://dl.doubtnut.com/l/_QCbg92wI7omf
https://dl.doubtnut.com/l/_HpgS3uAmtdlT


sanctuary.

Watch Video Solution

22. Determine what effect auxin has on the cell

wall as the cell sixe increases.

Watch Video Solution

23. Show an example of the way of feedback

control.

Watch Video Solution

https://dl.doubtnut.com/l/_HpgS3uAmtdlT
https://dl.doubtnut.com/l/_srvoYyInXl7h
https://dl.doubtnut.com/l/_ppKKs67N8CO2


24. Write differences in between Diabetes

melitus and diabetes incipidus-with following

characters-cause, Types of urine.

Watch Video Solution

25. Briefly state the event that proceeds a

stimulus in organisms.

Watch Video Solution

https://dl.doubtnut.com/l/_ppKKs67N8CO2
https://dl.doubtnut.com/l/_ouCUfhmUSCvn
https://dl.doubtnut.com/l/_LEicjATKAaMZ
https://dl.doubtnut.com/l/_9aE0Sy3Q5jBP


26. Significance of mitosis-Cell replacement

and compensation of cell-Give four examples

of these things from the nature based on your

experience.

Watch Video Solution

27. Relate Mitosis and meiosis with asexual

and sexual reproduction.

Watch Video Solution

https://dl.doubtnut.com/l/_9aE0Sy3Q5jBP
https://dl.doubtnut.com/l/_nsTmhbgDfhOz
https://dl.doubtnut.com/l/_wqVWwVzcCIma


28. What are the steps of micropropagation.

Watch Video Solution

29. Make the genetic layout of the four types

of hybrids you know.

Watch Video Solution

30. Identify where the ratio of phenotype and

genotype is 1, if in Mendel's dihybrid

https://dl.doubtnut.com/l/_wqVWwVzcCIma
https://dl.doubtnut.com/l/_6rHZ19ogFTkF
https://dl.doubtnut.com/l/_sUqsS1wiBNZf


cross(Yellow Round x Green Curly) is done

upto  generation.

Watch Video Solution

F2

31. Discuss the cause and symptom of

thalassemia.

Watch Video Solution

32. Write the interspecific and interaspecific

struggle you find in lion

https://dl.doubtnut.com/l/_sUqsS1wiBNZf
https://dl.doubtnut.com/l/_hRjI2qqVMHsZ
https://dl.doubtnut.com/l/_o3IIeihOmQLM


Watch Video Solution

33. Describe some features that bear

testimony to comparative embryology.

Watch Video Solution

34. State the adaptation of camels with the

shape of its RBC.

Watch Video Solution

https://dl.doubtnut.com/l/_o3IIeihOmQLM
https://dl.doubtnut.com/l/_rDrGWn04KpQe
https://dl.doubtnut.com/l/_PbxNyYWUXqWc
https://dl.doubtnut.com/l/_lB6LTkWvXSZX


35. Analyze the role of nitrous oxide as green

house gas.

Watch Video Solution

36. Establish a relationship of water quality

degradation with growing population

problems.

Watch Video Solution

https://dl.doubtnut.com/l/_lB6LTkWvXSZX
https://dl.doubtnut.com/l/_OoDiJLBtOaNB


37. Evolution of different species in a given

area starting from a point and spreading to

other geographical areas is known as

Watch Video Solution

38. List up the biodiversities which may extinct

with the natural calamitis that effect and

damage the salt water habitat in Sundarban

Watch Video Solution

https://dl.doubtnut.com/l/_pO44Fu8HMO9A
https://dl.doubtnut.com/l/_31RQVZu9icop
https://dl.doubtnut.com/l/_fqFr31NckdNm


39. Draw a neat diagram of the cross section

of human eyeball and label the following

parts: 

Lens, Cornea, Yellow spot, Vitreous humor.

Watch Video Solution

40. Draw a neat diagram of sexual

reproduction of flowering plant and label the

following parts: 

Transfer the pollen to the stigma

Watch Video Solution

https://dl.doubtnut.com/l/_fqFr31NckdNm
https://dl.doubtnut.com/l/_4R8PqNzx0IXj


41. Draw a neat diagram of sexual

reproduction of flowering plant and label the

following parts: 

Forward movement of pollen tube with male

pronucleus through style

Watch Video Solution

42. Draw a neat diagram of sexual

reproduction of flowering plant and label the

https://dl.doubtnut.com/l/_4R8PqNzx0IXj
https://dl.doubtnut.com/l/_2b72uC2ZcxuU
https://dl.doubtnut.com/l/_DJSogRdmWKGC


following parts: 

Zygote formation

Watch Video Solution

43. Draw a neat diagram of sexual

reproduction of flowering plant and label the

following parts: 

Cropnucleus or 3n nucleus formation.

Watch Video Solution

https://dl.doubtnut.com/l/_DJSogRdmWKGC
https://dl.doubtnut.com/l/_ZQQ4g5OUWC1z


44. Enlist three alternate characters of

metaphase and telophase. Name two body

parts in plant where mitosis cell division takes

place.

Watch Video Solution

45. Differentiate sexual and asexual

reproduction based on following points-

Nature of cell division.

Watch Video Solution

https://dl.doubtnut.com/l/_W0jp11lAeNkj
https://dl.doubtnut.com/l/_ZWef0SmMVqRW


46. Distinguish between asexual and sexual

reproduction on the basis of following

features: 

Nature of offspring

Watch Video Solution

47. Distinguish between asexual and sexual

reproduction on the basis of following

features: 

Number of Parents

https://dl.doubtnut.com/l/_ZWef0SmMVqRW
https://dl.doubtnut.com/l/_8MfRDrDKPoKs
https://dl.doubtnut.com/l/_ErR3zGQQaGbC


Watch Video Solution

48. Show with a cross Genealogy of

haemophilia. Differe between dominant and

recessive characters.

Watch Video Solution

49. Write three steps of Mendel's test on a pea

plant. Explain why incomplete dominance

happen.

https://dl.doubtnut.com/l/_ErR3zGQQaGbC
https://dl.doubtnut.com/l/_U43yivOg6YZy
https://dl.doubtnut.com/l/_twO3MG1uN1gd


Watch Video Solution

50. . If proper mutation does not happen

mammals could be extinct in extreme hostile

environment-Explain two such mutations or

variations.

Watch Video Solution

51. Prodigality of production intensifies the

struggle at an immense rate'-Please express

you opinion about the statement.

https://dl.doubtnut.com/l/_twO3MG1uN1gd
https://dl.doubtnut.com/l/_AIl3K6jISw3G
https://dl.doubtnut.com/l/_cJt5b6VMFJ1I


Watch Video Solution

52. Disucss conservation efforst for an

endangered mamals that lives in the

grasslands along the river. Identify which steps

in the nitrogen cyccle is associated with

pollution?

Watch Video Solution

https://dl.doubtnut.com/l/_cJt5b6VMFJ1I
https://dl.doubtnut.com/l/_iCjQSggBWrUJ


53. Explain how biosphere reseve can make

conservation efforts successful.

Watch Video Solution

54. If JFM is successful then estimates what

might change in the lifestyle of local

indigenous peopleS?

Watch Video Solution

https://dl.doubtnut.com/l/_ovdgTbCAMMfa
https://dl.doubtnut.com/l/_5agtHz6NNogL


55. Express your opinion as an environmentlist

which things you could include in PBR. 'Asthma

occurs due to human activity'-Judge the logic

of the statement.

Watch Video Solution

56. Which of the following statement is not

correct -

A. Herbarium houses dried, pressed and

preserved plant specimens .

https://dl.doubtnut.com/l/_hMjkl18h4PUi
https://dl.doubtnut.com/l/_Pnb73aU2ca6d


B. Botanical gardens have collection of

living plants for reference.

C. A museum has collection of

photographs of plants and animals

D. Key is taxonomic aid for identification of

specimens

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Pnb73aU2ca6d


57. Decide which one of the following

statements regarding in-situ conservation is

not correct?

A. Stop poaching by law

B. Supply of proper habitat, food and water

C. Storing sperm, ovum or zygote through

cryopreservation

D. Prohibition of cultivation and pasture

Answer:

W h Vid S l i

https://dl.doubtnut.com/l/_ZzbMMOUgc4sH


Watch Video Solution

58. ACTH secrets from _________gland.

Watch Video Solution

59. Distance between two stands of a DNA

is_______.

Watch Video Solution

https://dl.doubtnut.com/l/_ZzbMMOUgc4sH
https://dl.doubtnut.com/l/_2TSf87omi7Mx
https://dl.doubtnut.com/l/_kUVmCuofWVHn


60. In heterozygous organism ______ character

is suppressed.

Watch Video Solution

61. According to Darwinism ____ Which is

helpful for struggle for life is survival of the

fittest.

Watch Video Solution

https://dl.doubtnut.com/l/_VWGmke1pbwmo
https://dl.doubtnut.com/l/_mPnTfyNTGVKH


62. A green house gas produce from

airconditionar is_______.

Watch Video Solution

63. What kind of ecosystem is a kelp forest?

Watch Video Solution

64. Cerebrum is called the thermostat of body.

Watch Video Solution

https://dl.doubtnut.com/l/_Bfhuyb2dGo4d
https://dl.doubtnut.com/l/_jZdYtIs50hGt
https://dl.doubtnut.com/l/_vgCkHe907Ccp


65. Chromosomes move to the pole of spindle

fibre in metaphase.

Watch Video Solution

66. In case of thalassemia deformation of

bones takes place.

Watch Video Solution

https://dl.doubtnut.com/l/_vgCkHe907Ccp
https://dl.doubtnut.com/l/_hgm9alf0piQQ
https://dl.doubtnut.com/l/_19h8dyNgBPUR


67. When does a point mutation lead to a

missense mutation?

Watch Video Solution

68. Name an endangered species in Western

ghats hot-spot.

Watch Video Solution

https://dl.doubtnut.com/l/_JXOO6hVrpn3a
https://dl.doubtnut.com/l/_JuBrco5e4e6I


69. Match the words in column A with those

which are most appropriate in column B and

re-write the correct pairing mentioning the

serial no. of both column:

 


Watch Video Solution

https://dl.doubtnut.com/l/_MgCSBicJb24g


70. Choose the odd one and write it: Diabetes

incipidus, Dwarfism, Thalassemia, Diabetes

melitus.

Watch Video Solution

71. What is the relation between stimulus and

tactic movement.

Watch Video Solution

https://dl.doubtnut.com/l/_tW92zg11TdSR
https://dl.doubtnut.com/l/_oSe6nPpTDtuG


72. Given below a pair of related terms. Write

suitable word in the gap of second pair,

folloiwng the relationship in the first pair. 

Adenin: Purine:: _____: Pyrimidine.,

Watch Video Solution

73. Give example of the different types of a

same gene.

Watch Video Solution

https://dl.doubtnut.com/l/_poSTRW5n3Kf0
https://dl.doubtnut.com/l/_LE0xCFFsMOmN
https://dl.doubtnut.com/l/_f0R5zSsdWnBe


74. Give example of a mutation of human

population.

Watch Video Solution

75. What is the index of the gradual increase

in the complexity of the heart structure of

vertebrates?

Watch Video Solution

https://dl.doubtnut.com/l/_f0R5zSsdWnBe
https://dl.doubtnut.com/l/_RUrjdTw4A8xJ


76. Among the following four terms three

include the other one. Find out the terms and

write it. FPC,EDC,JFM, VFG.

Watch Video Solution

77. Name an example of a national forest and

sanctuary.

Watch Video Solution

https://dl.doubtnut.com/l/_WU173yNM4CxJ
https://dl.doubtnut.com/l/_1NdFCp37mtDy


78. Determine what effect auxin has on the cell

wall as the cell size increases.

Watch Video Solution

79. Show an example of the way to control

feedback.

Watch Video Solution

https://dl.doubtnut.com/l/_isd60VoHCRlq
https://dl.doubtnut.com/l/_v7ocSrr5IM2U


80. Write differences in between Diabetes

mellitus and diabetes insipidus-with following

characters- cause, types of urine.

Watch Video Solution

81. Write the features of reflex action

Watch Video Solution

https://dl.doubtnut.com/l/_WDsTURrMLoJa
https://dl.doubtnut.com/l/_DEyQbSyjX3dE


82. Significance of mitosis-Cell replacement

and compensation of cell-Give four examples

of these things from the nature based on your

experience.

Watch Video Solution

83. Explain Mitosis and meiosis in respect to

asexual and sexual reproduction.

Watch Video Solution

https://dl.doubtnut.com/l/_Jl2BNjE3fZ2n
https://dl.doubtnut.com/l/_2m2Xce03FK2K
https://dl.doubtnut.com/l/_f690dqJRPG0V


84. Discuss the steps of micropropegation.

Watch Video Solution

85. Identify where the ratio of phenotype and

genotype is 1, if in Mendel's dihybrid

cross(Yellow Round x Green Curly) is done

upto  generation.

Watch Video Solution

F2

https://dl.doubtnut.com/l/_f690dqJRPG0V
https://dl.doubtnut.com/l/_SdxLfKh4bhUm


86. Discuss the cause and symptoms of

thalassemia.

Watch Video Solution

87. Write the interspecific and intraspecific

struggle

Watch Video Solution

https://dl.doubtnut.com/l/_NokrRGGBUTqd
https://dl.doubtnut.com/l/_tnvDHYWLmRva


88. Describe some features of comparative

embryology.

Watch Video Solution

89. Relate the physiological adaptation of

camels with the shape of it's RBC.

Watch Video Solution

https://dl.doubtnut.com/l/_hqiB4DU4Zdjc
https://dl.doubtnut.com/l/_nnb7Yr6u6H7O


90. Analyze the role of nitrous oxide as green

house gas.

Watch Video Solution

91. Establish a relationship of water quality

degradation with growing population

problems.

Watch Video Solution

https://dl.doubtnut.com/l/_57rMaLCqNUAk
https://dl.doubtnut.com/l/_ff0KEaI9av1N


92. In terms of food crisis in a geographical

area how a possible but unused biodiversity

can resolve the crisis-tell us know what you

think.

Watch Video Solution

93. List up the biodiversities which may extinct

with the natural calamities that effect and

damage the salt water habitat in Sundarban

Watch Video Solution

https://dl.doubtnut.com/l/_Gw2BmM6X5pCd
https://dl.doubtnut.com/l/_SVsU7X8ZwUNi


94. Draw a neat diagram of the cross section

of human eyeball and label the following

parts: 

Lens, Cornea, Yellow spot, Vitrious humor.

Watch Video Solution

95. Draw a neat diagram of sexual

reproduction of flowering plant and label the

following parts: 

Transfer the pollen to the stigma

https://dl.doubtnut.com/l/_SVsU7X8ZwUNi
https://dl.doubtnut.com/l/_35oIMWT5vqgs
https://dl.doubtnut.com/l/_3xIMQfGSX3Zi


Watch Video Solution

96. Draw a neat diagram of sexual

reproduction of flowering plant and label the

following parts: 

Forward movement of pollen tube with male

pronucleus through style

Watch Video Solution

https://dl.doubtnut.com/l/_3xIMQfGSX3Zi
https://dl.doubtnut.com/l/_mAx4WLTp0x1N


97. Draw a neat diagram of sexual

reproduction of flowering plant and label the

following parts: 

Zygote formation

Watch Video Solution

98. Draw a neat diagram of sexual

reproduction of flowering plant and label the

following parts: 

Cropnucleus or 3n nucleus formation.

https://dl.doubtnut.com/l/_nohSyQdigruq
https://dl.doubtnut.com/l/_iP8aAmvdVs0v


Watch Video Solution

99. Enlist three alternate characters of

metaphase and telophase. Name four body

parts in plant where mitosis cell division takes

place.

Watch Video Solution

100. Differentiate sexual and asexual

reproduction based on following point -

Nature of cell division.

https://dl.doubtnut.com/l/_iP8aAmvdVs0v
https://dl.doubtnut.com/l/_nu1kcpdPhvwM
https://dl.doubtnut.com/l/_11Kvw9c6G5I0


Watch Video Solution

101. Differentiate between sexual and asexual

reproduction based on following point -

Nature of offspring generation

Watch Video Solution

102. Differentiate sexual and asexual

reproduction based on following point-

Number of parental organism.

https://dl.doubtnut.com/l/_11Kvw9c6G5I0
https://dl.doubtnut.com/l/_kY3rCO4yk7wS
https://dl.doubtnut.com/l/_PxzPV1o1oTSx


Watch Video Solution

103. Show with a cross Genealogy of

haemophilia. Differentiate between dominant

and recessive characters.

Watch Video Solution

104. Write three steps of Mendel's test on a

pea plant. Explain why incomplete dominance

happen.

Watch Video Solution

https://dl.doubtnut.com/l/_PxzPV1o1oTSx
https://dl.doubtnut.com/l/_eSbb7boHqddi
https://dl.doubtnut.com/l/_FoywdgqCpPw3


105. Behaviour is essential for evolution-Prove

the accuracy of the statement. If proper

mutation does not happen, mammals could be

extinct in extreme hostile environment-Explain

two such mutations or variations.

Watch Video Solution

106. Prodigality of production intensifies the

struggle at an immense rate'-Please express

https://dl.doubtnut.com/l/_FoywdgqCpPw3
https://dl.doubtnut.com/l/_2zp1ZOoa4p1q
https://dl.doubtnut.com/l/_LFyIn9RvuDiO


you opinion about the statement. Write down

with a chart-the nitrogen containing

compounds that produce in Miller and Urey's

experiment.

Watch Video Solution

107. Discuss conservation efforts for an

endangered mammals that live in the

grasslands along the river. Identify which step

in the nitrogen cycle is associated with

population?

https://dl.doubtnut.com/l/_LFyIn9RvuDiO
https://dl.doubtnut.com/l/_94aPJCb8u34n


Watch Video Solution

108. Changes in land use policy have

endangered reptiles and amphibians. Identify

those species with the help by interviewing

and environment list. Explain how biosphere

reserve can make conservation efforts

successful.

Watch Video Solution

https://dl.doubtnut.com/l/_94aPJCb8u34n
https://dl.doubtnut.com/l/_ZlGPTPhYQuDj


109. Explain how air pollution is related to fast

living. If JFM is successful then estimate what

might change in the lifestyle of local

indigenous people?

Watch Video Solution

110. Express your opinion as an

environmentalist which things you could

include in PBR. 'Asthma occurs due to human

activity'-Judge the logic of the statement.

https://dl.doubtnut.com/l/_cCUKbZxiZ3uw
https://dl.doubtnut.com/l/_X7yKQIMb8eZZ


Watch Video Solution

https://dl.doubtnut.com/l/_X7yKQIMb8eZZ

